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1. Discussion
We propose the following UE capability parameter values for total/maximum aggregated BW.
1.1. FR1 Inter-band CA: the maximum aggregated BW 
We propose the following UE capability parameter values for the maximum aggregated BW.
· FDD = {20, 30, 35, 40, 50, 60, 70, 80, 90, 100, 110, 120,130, 140, 150} MHz
· TDD = {100, 120, 140, 160, 180, 200, 220, 230, 250, 280, 290, 300, 350, 400, 450, 500} MHz

1.2. FR1 Inter-band CA: the total aggregated BW (FDD+TDD)
It is our understanding that the UE capability for the total aggregated BW for a FDD-TDD CA band combination does not scale linearly, due to the difference in SCS between FDD and TDD. This means that the support for 50MHz in FDD and that for 50MHz in TDD are NOT equivalent. Since the SCSs are fixed in most deployments to 15kHz for FDD and 30kHz for TDD, we can think about a “conversion ratio” that can be used to derive the effective total aggregated BW.
We propose to define 2:1 ratio for FDD:TDD, where the total aggregated BW is calculated as follows.
· Total aggregated BW = 2*FDD BW + 1*TDD BW.
For example, the UE can signal the support for the total aggregated BW=160MHz, FDD maximum BW=50MHz and TDD maximum BW=100MHz, This means the UE supports the following combinations.
· FDD 30MHz + TDD 100MHz (2*30MHz + 100MHz = 160MHz)
· FDD 40MHz + TDD 80MHz (2*40MHz + 80MHz = 160MHz)
· FDD 50MHz + TDD 60MHz (2*50MHz + 60MHz = 160MHz)
But the UE does not support the following.
· FDD 50MHz + TDD 80MHz (2*50MHz + 80MHz = 180MHz > 160MHz)
We then propose the following values.
· Total aggregated BW (FDD+TDD) = {100, 200, 300, 400, 500, 600, 700, 800} MHz

1.3. FR2 Intra-band CA: the maximum aggregated BW
We propose the following UE capability parameter values for the maximum aggregated BW.
· Maximum aggregated BW = {200, 300, 400, 500, 600, 700, 800, 900, 1000, 1100, 1200, 1300, 1400, 1500, 1600, 1700, 1800, 1900, 2000, 2100, 2200, 2300, 2400} MHz

2. Proposal
Based on the discussion we make the following proposals.

Proposal 1:	Define the following ASN.1 structure for the field SupportedAggBandwidth [1]
SupportedAggBandwidth-r17 ::=     CHOICE {
    fr1-r17          ENUMERATED {mhz20, mhz30, mhz35, mhz40, mhz50, mhz60, mhz70, mhz80, mhz90, mhz100, mhz110, mhz120, mhz130, mhz140, mhz150, mhz160, mhz180, mhz200, mhz220, mhz230, mhz250, mhz280, mhz290, mhz300, mhz350, mhz400, mhz450, mhz500, mhz600, mhz700, mhz800, spare1},
    fr2-r17          ENUMERATED {mhz200, mhz300, mhz400, mhz500, mhz600, mhz700, mhz800, mhz900, mhz1000, mhz1100, mhz1200, mhz1300, mhz1400, mhz1500, mhz1600, mhz1700, mhz1800, mhz1900, mhz2000, mhz2100, mhz2200, mhz2300, mhz2400, spare9, spare8, spare7, spare6, spare5, spare4, spare3, spare2, spare1}
}

Proposal 2:	For FR1 Inter-band CA, the total aggregated BW is calculated as follows.
· Total aggregated BW = 2*FDD BW + 1*TDD BW.
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